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Exercice 1:
PROGRAM suite;
Uses crt;
VAR u :REAL;
i: INTEGER,;
BEGIN
u:=0;
WRITELN(u);
FORi:=1TO 6 DO
BEGIN
u:=2*u+3;
WRITELN(u); Readkey();
END;
END.
1. Guess the display of the previous program after execution and recognize the sequence involved.
2. Transform the program to display only u100 (and nothing else).
Readkey() allows you to stop scrolling the display until you type a key on the keyboard.
3. Then replace the FOR loop with the WHILE loop.
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Exercice 2 :
Let be the sequence u defined by Ul =1and foralln € N*, Up.1 = U+ ﬁ Complete and run the program to

calculate and display the U30 term.
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Program suite ;
Usescrt;

Writeln(‘le terme Usp est?,..cicveeecennee ) ; Readkey() ;
End.
Exercice 3 :
Complete the program that requires a real x and a positive or zero natural number n, and then calculates x".
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Compléter le programme qui demande un réel x et un entier naturel n positif ou nul, puis qui calcule x ".
PROGRAM puissance;
Uses crt;
VAR X,P @ ceveeereeee 5 MK ;
BEGIN
WRITE('Donner X et n’); .ccoeeeeeeeeveeerrerenrenne e berens T ;
IF (n>=0) THEN
begin
FOR v J O DO e, ; WRITELN(x:1:2,” ~,n,’=",p:1:2);
End
else writeln(‘ valeur de n doit étre positive ou nul’);
Readkey() ;
END.



Exercice 4 :

A three-digit natural number is said to be cubic if it is equal to the sum of the cubes of its three digits.

Example: 153 is cubic because 153 = 13 + 53 + 33. Complete the Pascal NBR_CUBE program that searches for and

displays all three-digit cubic integers (i.e., all cubic integers between 100 and 999).
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Program Nbr_Cube;

Uses crt;

Var K, €, U ;

Then Writeln (................. , ' est un nombre cubique');
End;

End.

Exercice 5 :
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We are interested in the following game: the machine randomly chooses an integer between 0 and 7 and the user
must guess it. Complete the following program in order to play:

PROGRAM jeu;

VAR rlt, k : INTEGER;
BEGIN

RANDOMIZE;

rlt:=RANDOM(8); { On peut générer un nombre entier pseudo-aléatoire compris entre 0 et (8-1)=7 grace a la fonction
Random(8) }

REPEAT

WRITELN(’vous avez gagné’);
END.

2. Ajouter une variable qui compte le nombre d’essais nécessaire a |'utilisateur pour gagner, puis |’afficher.
3. Comment transformer le programme pour utiliser la boucle WHILE ?
Exercice 6 :
Complete the SOMME program which calculates and displays the following sum: S=1+1/2+1/4+......+1/(n+1) where n
is an odd number >=1 given by the user. It is assumed that there is no error in the input of n.
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Program SOMME ;
Uses CRT;

begin

FOR = e to. . DO
writeln(‘la somme est: ‘, .ooooveiierieeeecee );
end.

2- Réécrire le programme en utilisant le WHILE.

3- Réécrire le programme en utilisant la boucle repeat.

Exercice 7:

We propose to determine the PGCD (Greatest Common Divisor !) of two non zero positive integers A and B using
Euclid's algorithm: Knowing that PGCD (A, B) = PGCD(B, R), with R = A mod B. So, as long as the remainder R is
nonzero, we replace A by B and B by R. The last non-zero remainder R is then the PGCD of the two numbers.
Example: PGCD (32, 12) = PGCD (12, 8) = PGCD (8, 4) = PGCD (4, 0) = 4. A and B must be positive.
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Program PGCD_Euclide;
Uses Wincrt;
Var A, 0, T e ;
Begin
Repeat
Writeln ('Saisir un entier @> 0'); oot ;
Writeln ('Saisir un entier B> 0"); oot ;

End;
Writeln ('PGCD =", c.ooveeeeereeeeeeeeeeeeee e );
End.
Exercice8:
Complete the Pascal program called COMBINAISON, which reads two natural numbers n and p with (O<p<n), then

n!
Note: the
p!(n-p)!

calculates and displays the number of combinations of p objects among n ( C,’l’ ). Recall that C,’f =
program must only accept the values of p>0 and n>p.
N On p Slesane 2o Gy sy &5 p>n>0) gep s n b () 14 535 « COMBINAISON (oomsall JSuly 7l 5y JoS|

L8 n>p 5 p>0 assll VI gals ull Jiy o cany sidaadl C,’f = p'(:ip)' o SN (Cf:)

Program Combinaison ;
Uses crt;
Var CNP et veneeeier e ereeiee e ;
n, p, i, nf, pf, npf e ;
Begin
Repeat
WIIEE (‘P =) coevrrrrerrererrererereresteteree et ssesee s seenenes ;
WIEE (‘N =) cevreree ettt s enes ;
UNTil i ;
nf :=1; Pf :=1; npf :=1; i:=2;
WHILE ..o, Do
Begin
N i s ;

End;
cnp :=nf / (pf*npf); Writeln ("Combinaison ="', .....ccccceevvrrveennn)
End.
Exercice9:
An integer greater than 1 is said to be prime if it admits exactly two divisors: 1 and itself. write the Pascal program that searches
for and displays all prime numbers < to 400.
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